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PART - III

yy|wLNñU / BOTANY

(ospLtU, CUYæ}xV nLxLÍqeU / Malayalam & English Versions)

yopkq]i] : 3 oe]¨P¡ ] [ kqoLvi] oL¡ V̈ : 150

Time Allowed : 3 Hours ] [Maximum Marks : 150

j]¡SÇw°¥ : (1) S\Lh|¨asLô]Rs A\ÿa]pORa YOej]svLqU DrÕOvqO¾OW.
IRÍË]sOU SkLqLpÜWtORºË]¤ SzL¥ yPÕ¡RRvyrOoLp]
mÌRÕaOW.

(2) IuOfOvLjOU Aa]vqp]aOvLjOU WrOSÕL j}sSpL j]r¾]sOç
ox]oLNfU DkSpLY]¨OW . \]Nf°¥ vqàOvL¢ Rk¢y]¤
DkSpLY]¨LU.

Instructions : (1) Check the question paper for fairness of printing.  If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

[ orOkOrU / Turn over

v]nLYU - A / SECTION - A

WOr]ÕV : (i) IsæL S\Lh|°¥¨OU D¾qU IuOfOW. 30x1=30

(ii) fÐ]q]¨OÐ jLsV D¾q°t]¤j]ÐV JãvOU AjOSpL^|oLp D¾qU
f]qR´aO¾VV KLkVVx¢ SWLcOU wq]pO¾qvOU IuOfOW.

Note : (i) Answer all the questions.

(ii) Choose the most suitable answer from the given four alternatives and write
the option code and corresponding answer.
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1. y~fNÍ CftOWStLaO WPa]p kOx×°¥ Dç R\a]W¥ JfV v]nLY¾]¤
RkaOÐO ?
(a) SoLSeLWæLo]Sc (monochlamydea)

(b) SoLSeLSWLŸ]s}Rc¢ (monocotyledons)

(c) YLSoLRkãs] (Gamopetalae)

(d) SkLt]Rkãs] (Polypetalac)
Plants having flowers with free petals are placed under :
(a) Monochlamydea
(b) Monocotyledons
(c) Gamopetalae
(d) polypetalae

2. Rv¡SeLj]pL B¡SmLr]p (Vernonia Arborea) IÐfV :
(a) KTxiyy|U (herb) (b) WOã]R\ÿa] (shrub)
(c) oqU (tree) (d) RRã~j¡ (twiner)

Vernonia arborea is a :
(a) herb (b) shrub
(c) tree (d) twiner

3. z}v|L Nmy}s]p¢y]yV (Hevea brasiliensis) &Rs CsW¥ :
(a) y]Uk]¥ (b) RRNaSlLt]SpãVs] SWLÒTºV
(c) Ryô]¤ (d) kL¤SoãVs] SsLmVcV
In Hevea brasiliensis, the leaves are :
(a) Simple (b) Trifoliately compound
(c) Sessile (d) Palmately lobed

4. ‘oPyL’ vUw¾]sOç R\a]WtORa fº]¤ AvpORa CsWtORa NWo}WqeU
I°RjpLeV ?
(a) KÐ]av]ŸV (b) v]k}qfoLp
(c) 2 nLY°tLp] (d) v¡¾OtoLp]
The phyllotaxy in Musa is :
(a) Alternate (b) Opposite
(c) Distichous (d) Spiral

5. RmLrLyôV læLmsæ]Rl¡ (Borassus flabellifer) IÐfV IÍ]R£ wLNñ}p
jLooLeV ?
(a) Rf°V (b) RRv¢ kj
(c) SrLp¤ kj (d) kL¤o}q kj
Borassus flabellifer is the binomial of :
(a) coconut tree (b) wine palm
(c) royal palm (d) palmyra palm
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6. B¡f}o]y|L oLq]ã]o (Artemesia maritima) &p]¤ j]ÐV sn]¨OÐ op¨OoqOÐV JfV?
(a) RRkq}NfU (Pyrethrum) (b) yLS£Lj]¢ (Santonin)
(c) BSNaLRRk¢ (Atropine) (d) W~]j]¢ (Quinine)

A drug obtained from Artemesia maritima is :
(a) pyrethrum (b) santonin
(c) atropine (d) quinine

7. SoLSeLSWLŸ]s}c¢ (monocotyledons) &j]¤ JãvOU v]Wy]foLp vUwU JfV ?
(a) Að}qLy] (Asteraceae) (b) oL¤vLy|L (Malvaceae)

(c) rOm|Ly] (Rubiaceae) (d) K¡¨]cLy] (Orchidaceae)

An advanced family in Monocotyledons is :
(a) Asteraceae (b) Malvaceae
(c) Rubiaceae (d) Orchidaceae

8. KLð]SpLyVVRWær]cVyV (Osteosclereids) WLeRÕaOÐfV :
(a) RNWLŸSsr]ppORa m}^WµOWU
(b) RRkyOU (Pisum) m}^WµOWU
(c) RRkryV (Pyrus) &R£ k¥ÕV
(d) vLupORa Cs¾ºVV
The osteosclereids are seen in :
(a) seed coat of crotalaria (b) seed coat of pisum
(c) pulp of pyrus (d) petioles of banana

9. kLSô^V Ry¤yV WLeRÕaOÐfV I¢ScLRc¡o]y]R£ __________ BWOÐO.
(a) RRcSWLŸV WL¼U (b) RRcSWLŸV SvqV
(c) SoLSeLSWLŸV WL¼U (d) RRcSWLŸV Cs
Passage cells are found in endodermis of :
(a) dicot stem (b) dicot root
(c) monocot stem (d) dicot leaf

10. vLØOs¡ WLUm]pU IÐfV :
(a) Ak]¨¤ Roq]RðU (Apical meristem)

(b) C£¡SWsr] Roq]RðU (Intercalary meristem)

(c) sLãr¤ Roq]RðU (Lateral meristem)

(d) SNkL Roq]RðU (Promeristem)

Vascular Cambium is a :
(a) apical meristem
(b) intercalary meristem
(c) lateral meristem
(d) promeristem
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11. Bj~¤ r]UYVVyV I¹]R¨LºV KqO oq¾]R£ NkLpU We¨L¨OÐ q}f] :
(a) Rc¢SNcLSNWLSeLt^] (b) kLs]SjLt^]
(c) IR£SoLt^] (d) CS¨Lt^]
The determination of the age of a tree by counting the annual rings is called :

(a) dendrocronology (b) palynology

(c) entemology (d) ecology

12. ^]SoÔLSy×¡o]¤ (Gymnosperms) RvçU Wa¾]v]aOÐ NkiLjRÕŸ ZaW°¥
JfV ?
(a) NaW}cVV (Tracheids)
(b) Rvô¤yV (Vessels)
(c) RRysU RRlSm¡yV (Xylem fibres)

(d) y}vV a|PmõV (Sieve tubes)
In Gymnosperms, the chief water conducting elements are :

(a) tracheids

(b) vessels

(c) xylem fibres

(d) sieve tubes

13. z|PSYL c] Nv}yV, Bh|oLp] ‘D¥Õq]v¡¾jU’ IÐ khU DkSpLY]\ÿfV
ASÇz¾]R£ JfO j]q}ƒe¾]R£ Aa]òLj¾]sLeV ?
(a) RyL¡YU (b) j|PSrLSy×Lr
(c) CTSjL¾}q so¡¨]pLj (d) y]y¡ Y]YLyV
Hugo de Vries first used the term mutation based on his observation on :

(a) Sorghum (b) Neurospora

(c) Oenothera lamarckiana (d) Cicer gigas

14. jç]SyLo] (Nullisomy) Nkf]j]i}Wq]¨OÐfV :
(a) 2n−1 (b) 2n+1 (c) 2n+2 (d) 2n−2

Nullisomy is represented by :

(a) 2n−1 (b) 2n+1 (c) 2n+2 (d) 2n−2

15. WL¢y¡ SWLw¾]¤ yUnv]¨OÐ SNWLSoLSyLoOWRt v]t]¨OÐfV :
(a) SkLt}¾}¢ SNWLoSyLU (b) sLUkV NmxV SNWLoSyLU
(c) B-SNWLoSyLU (d) cm]¥ o]j]ãVyV
Chromosomes occur in cancer cells are called as :

(a) Polytene chromosome (b) Lamp brush chromosome

(c) B - chromosomes (d) Double minutes
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16. Wq]Ò]¤ Dç zLSkæLpcV S^La] SNWLoSyLU IÐfV :
(a) 30 (b) 40 (c) 10 (d) 20

Haploid set of chromosome in sugarcane is :

(a) 30 (b) 40 (c) 10 (d) 20

17. WLsô]¤j]ÐV Svq]R£ v]WLy¾]jV krpOÐfV :
(a) KL¡YLSjLR^j]y]yV (b) r}SyLR^j]y]yV
(c) SWLSsL R^j]y]yV (d) IUNm]SpL R^j]y]yV
The development of root from the callus is called :

(a) organogenesis (b) rhizogenesis

(c) caulogenesis (d) embryogenesis

18. ojOx|qORa DkSnLY¾]jLp] SkLxWYOeoOç v]ãLo]¢ YOt]WW¥ JfO
yS\fj vñOv]¤ j]ÐLeV DºL¨OÐfV ?
(a) SjLSðLWV (b) p}ðV (c) WP¦ (d) RRy×rOs}jL
Enriched vitamin tablets are produced from the following organism for human
consumption.

(a) Nostoc (b) Yeast (c) Mushroom (d) Spirulina

19. fLRu krpOÐ ^j]fWkqoLp] j]¡Ú]\ÿ DfVkÐ°t]¤ RRvry]Rj R\rO¨L¢
SWLw°Rt yzLp]¨OÐfV JfV ?
(a) C£¡s|PW]¢ (b) C£¡RlSrL¦
(c) C¢yOs]¢ (d) Rrj]¢ C¢z]m]Sã¡yV
Which one of the following genetically engineered products helps the cells to resist
viruses ?

(a) Interleukin (b) Interferon

(c) Insulin (d) Renin inhibitors

20. NaL¢RóSry]jV (transferase) DhLzqeU :
(a) NaL¢yLo]SjyV (transaminase)

(b) RRkrOv]WV WL¡SmLWõ]SsyV (Pyruvic carboxylase)
(c) z]ð]RRc¢ c]WL¡SmLWõ]SsyV
(d) c] RRzSNcLR^SjyV
An example for transferase :

(a) transaminase

(b) pyruvic carboxylase

(c) histidine decarboxylase

(d) dehydrogenase
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21. Z - Ø}U kqLo¡w]¨OÐfV IÍ]Rj ?
(a) \LNW}poLp CsSNW›L¦ YfLYfU
(b) Rvç¾]R£ SlLSŸLt]y]yV
(c) \LNW}posæLRfpOç CsSNW›L¦ YfLYfU
(d) CO

2 
&v]R£ j|Pj}WqeU

Z - scheme refers to :
(a) Cyclic electron transport
(b) photolysis of water
(c) Non-cyclic electron transport
(d) reduction of CO

2

22. fLRu fÐ]q]¨OÐvp]¤ yLiLqepOç w~LySWLwkLt] JfV ?
(a) SNkLŸ}¢yV (b) RWLuOÕV
(c) WL¡SmLRRzSNcãVyV (d) v]ãLo]¢yV
Which of the following is the common respiratory substrate :
(a) proteins (b) lipids
(c) carbohydrates (d) vitamins

23. ku°tORa ‘kLWoL¨¤’ NkNW]pp]¤ nLYoLp SzL¡SoL¦ JfV ?
(a) KLWõ]¢ (b) ^]RmÿRrsæ]¢
(c) Ig]s}¢ (d) Bmõ]y]WV By]cV
The hormone that involves in ripening of fruits is :
(a) auxin (b) gibberellin
(c) ethylene (d) abscisic acid

24. fLRu RWLaO¾]q]¨OÐvp]¤ “Sc&j|PNa¤ kæL£V” JfV ?
(a) kOWp]s (b) y¦læv¡
(c) KLaVyV (d) SYLfÒV
Which of the following is a day neutral plant ?
(a) Tobacco (b) Sunflower
(c) Oats (d) Wheat

25. RRoSãLSWL¦Na]pp]¤, CsSNW›L¦ vLzWZaW°¥ NWo}Wq]\ÿ]q]¨OÐfV
Iv]RapLeV ?
(a) D¤Õ¾]òLjU (b) kOrR¾ \¡ÚkLt]p]¤
(c) NW]Rð (d) Dç]sOç \¡ÚkLt]p]¤
In mitochondria, the electron transport components are arranged in :
(a) matrix (b) outer membrane
(c) cristae (d) inner membrane
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26. SWLw°tORa D¡² NkyqeU IÐV v]wh}Wq]¨OÐfV IÍ]Rj ?

(a) ATP (b) NADP (c) FAD (d) NADH
2

It is described as energy currency of the cell :

(a) ATP (b) NADP (c) FAD (d) NADH
2

27. nLY]W kqLèp] (Partial Parasite) & V̈ DhLzqeU :

(a) vL¢cL (Vanda) (b) WØ|OŸ (Cuscuta)

(c) SNcLy}r (Drosera) (d) v]ØU (Viscum)

An example for partial parasite is :

(a) Vanda (b) Cuscuta

(c) Drosera (d) Viscum

28. RRkr]W|OSsr]p KRRrRypORa (Pyricularia Oryzae) RWLtLãr¤ SzLðV kæL£V
IÍLWOÐO ?

(a) Jx|¢ RRryV (Oryza sativa) (b) WrOWÕOsæV (Digitaria marginata)

(c) j]s¨as (Arachis hypogea) (d) jLq° R\a]W¥ (Citrus plant)

What is the collateral host plant of pyricularia oryzae ?

(a) Oryza sativa (b) Digitaria marginata

(c) Arachis hypogea (d) Citrus plant

29. SkLt]SkæLpVc] V̈ WLqeoLWOÐfV ?

(a) SkLt]¾]s}¢ RRYæS¨L¥ (b) RkW›]SjyV

(c) RysæORspVyV (d) SWL¤x]y]¢ (Colchicine)

Polyploidy can be induced by :

(a) polyethylene glycol (b) pectinase

(c) cellulase (d) colchicine

30. CÍ|p]¤ Skã¢£]R£ WLsLvi] ?

(a) 3 v¡xU (b) 4 v¡xU (c) 5 v¡xU (d) 6 v¡xU

Duration of patent in India is :

(a) 3 years (b) 4 years (c) 5 years (d) 6 years
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v]nLYU - B / SECTION - B

WOr]ÕVV : JRfË]sOU 15 S\Lh|°¥ V̈ D¾qU IuOfOW. 15x3=45

Note : Answer any fifteen questions.

31. kLk]s]SpLSjx|yV RWLSrLt (Papilionaceous corolla) IÐLRsÍV ?
What is papilionaceous corolla ?

32. oL¤Svx|L (Malvaceae) &pORa NWoLjOYfoLp òLjU IuOfOW.
Write the systematic position of malvaceae.

33. y]¢^]Sjx|yV RðpVVo¢ (Syngenesious Stamen) IÐLRsÍV ?
What is syngenesious stamen ?

34. BSNaLk]¢ IÐLRsÍV ?
What is Atropine ?

35. pPð]¤ (Eustele) IÐLRsÍV ?
What is an Eustele ?

36. ^jã]WV oLÕV IÐLRsÍV ?
What is a genetic map ?

37. NaL¢NØ]kVx¢ IÐLRsÍV ?
What is Transcription ?

38. SkæLpVc]&pORa JRfË]sOU oPÐV NkLiLj|°¥ IuOfOW.
Write any three significances of ploidy.

39. kæL£V  a]x|P W¥\ÿr]R£ JRfË]sOU oPÐV oLi|o°¥ IuOfOW.
Mention three media of plant tissue culture.

40. mSpL Rro}c]Spx¢ IÐfORWLºV A¡ÀoL¨OÐfV IÍV ?
What is meant by Bio-remediation ?
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41. NkWLw¾]R£ Nkf]Nkv¡¾jU (Light reaction) j]¡vÿ\]¨OW.
Define light reaction.

42. zLSðLq]p (haustoria) IÐO v]t]¨OÐfV IÍ]Rj ?
What are called haustoria ?

43. y}pLã]¢ (Zeatin) IÐLRsÍV ?
What is Zeatin ?

44. RRyWæ]¨V SlLSŸLSlLSóLr]Ssx¢ yUnv]¨OÐ AvòWRt¨Or]\ÿ V
v]wh}Wq]¨OW.
State the conditions underwhich cyclic photophosphorylation occurs.

45. ASkLI¢RRyU (apoenzyme) IÐLRsÍV ?
What is Apoenzyme ?

46. ARjpVVSrLm]WV Rry×]Srx¢ IÐLRsÍV ?
What is anaerobic respiration ?

47. ‘RkS£LyV SlLSóãV kLfVSv’pORa JRfË]sOU oPÐV NkLiLj|°Rt¨Or]\ÿV
v]wh}Wq]¨OW.
Mention three significances of pentose phosphate pathway.

48. C
3
,  C

4
 kLfVSv (Pathway) Cv fÚ]sOç JRfË]sOU oPÐV v|f|Ly°¥

IuOfOW.
Write any three differences between C

3 
and C

4
 pathway.

49. ojf¨Lt] (Solanum nigrum)&pORa JRfË]sOU oPÐV KTxi YOe°Rt¨Or]\ÿV
IuOfOW.
Write any three medicinal uses of Solanum nigrum.

50. mSpLRl¡Ÿ]RRsy¡ – DhLzqeyz]fU v]whoL¨OW.
What is Biofertilizer and give an example.
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v]nLYU - C / SECTION - C

WOr]ÕVV : (i) JRfË]sOU 7 S\Lh|°¥¨V D¾qU IuOfOW. S\Lh|U jÒ¡
56 j]¡mÿÌoLpOU IuOfeU.

(ii) Bvw|oOç Ca°t]¤ SqXL\]NfU vqàOW.
Note : (i) Answer any seven questions including question no. 56 which is compulsory.

(ii) Draw diagrams wherever necessary.

51. Rz¡Smr]p¾]R£ (Herbarium) NkLiLj|R¾ WOr]\ÿV v]wh}Wq]¨OW.
Bring out the significance of Herbarium.

52. o|PyL, rLRvRjs (Musa, Ravenala) Cv fÚ]sOç v|f|Ly°¥ IuOfOW.
Write the differences between Musa and Ravenala.

53. kLq¢RRWopORa (Parenchyma) v|f|ñ v]nLY°¥ IuOfOW.
Explain different types of parenchyma.

54. Rs£]Ry¤yV (Lenticels) &RjWOr]\ÿV WOr]RÕuOfOW.
Write short notes on lenticels.

55. KqO SoLSeLSWLŸV Svq]R£ f]qé}joLp nLY°¥ \]NfU vq\ÿV
AapLtRÕaO¾OW. (KqO nLYU vsOfL¨]pfV ARsæË]¤ RkLfOvLp KqO
qPkSqX)
Draw and label the parts of transverse section of a monocot root (a sector enlarged or
Ground plan)

56. tRNA&pORa ZajRpWOr]\ÿV WOr]RÕuOfOW.
Write short notes on the structure of tRNA.

57. DNA, RNA Cv fÚ]sOç v|f|Ly°¥ IuOfOW.
Write the differences between DNA and RNA.

58. ^j]fW qPkLÍqe¾]R£ NkLSpLY]W DkSpLYR¾¨Or]\ÿV v]wh}Wq]¨OW.
Write short notes on the practical application of genetic transformation.
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59. DNA kbjyUSpL^j yLSËf]W v]h|pORa(Recombinant DNA technology)

NkiLjRÕŸ AµVV yUnv°¥ IuOfOW.

Write the five most important events of recombinant DNA technology.

60. WOø]pORa (Kuhne’s) Rl¡oS£x¢ a|PmV kq}ƒeU v]vq]¨OW.

Explain Kuhne’s fermentation tube experiment.

61. KLWõ]R£ (Auxin)  wq}qwLNñkqoLp JRfË]sOU AµVV ls°¥ IuOfOW.

Write any five physiological effects of Auxin.

62. kæL£V C¢RNaLcƒ¢ IÐLRsÍV ? v]wh}Wq]¨OW.

Write short notes on plant introduction.

v]nLYU - D / SECTION - D

WOr]ÕVV : (i) JRfË]sOU 4 S\Lh|°¥ V̈ D¾qU IuOfOW. 4x10=40

(ii) SqXL\]NfU Bvw|RÕaOÐ yÎ¡n°t]¤ vqàOW.

Note : (i) Answer any four questions.

(ii) Draw diagrams wherever necessary.

63. (a) Rm¢fU–zPS¨¡y]R£ R\a]WtORa v¡«}WqeR¾¨Or]\ÿOç YOe°¥
IuOfOW.

(b) rPm]pLy]pORa yLÒ¾]W NkLiLj|¾]R£ v]vqeU j¤WOW.

(a) Bring out the merits of Bentham and Hooker’s classification of plants.

(b) Give an account on economic importance of Rubiaceae.

64. o|PyL&kLqc]y]pLWL (Musa-Paradisiaca) &Rp yy|wLNñkqoLp vL¨OWt]¤
v]wh}Wq]¨OW. (SqXL\]NfU Bvw|o]sæ)

Describe Musa paradisiaca in botanical terms. (Diagrams not necessary)

65. RRcSWLŸV WL¼vOU, SoLSeLSWLŸV WL¼vOU fÚ]sOç ZajLkqoLp
v|f|Ly°¥ v]wh}Wq]¨OW.

Write anatomical differences between dicot stem and monocot stem.
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66. SNWLoSyLoOWtORa ZajRp WOr]\ÿV v]wh}Wq]¨OW.

Explain the structure of chromosome.

67. kæL£V a]x|P W¥\ÿr]R£ NkSpLY¾]R£ AjÍqls°¥ IRÍsæLU ?

What are the outcomes of application of plant tissue culture ?

68. NkWLwyUSwæxeR¾ mLi]¨OÐ ZaW°Rt¨Or]\ÿV v]wh}Wq]¨OW.

Write an account on the factors affecting photosynthesis.

69. C
2 

RRy¨]¥ (SlLSŸLRry×]Srx¢) v]wh}Wq]¨OW (SlæL \L¡ŸV ARsæË]¤
v]wh}WqeU)

Describe C
2 
cycle (photorespiration) (flow chart or Explanation)

70. Aq]pORapOU, j]s¨aspORapOU yLÒ¾]W NkLiLj|R¾¨Or]\ÿV v]wh}&
Wq]¨OW.

Write the economic importance of Rice and ground nut.

- o O o -


